il

(RMIBESL)

IBGE | Tavs| KFE4 YDS |LONG| SAF
1 T hRX 1 |tE BA 4 7| 43 11 0
21 T BfEER | 97 |FN Mz 4 41 38 14 0
3| T EBK | 99 [T HRiE 4 3] 37 23 0
3| T BEX | 91 |XBH BX 2 3] 20 9 0
5] T RBK 9 |&@E #B 4 2| 16| 15 0
5 T FRBK 97 |FIRI 2 4 2 15 9 0
5] T BAX | 99 |BiE MK 4 2l 15 8 0
50 T RBK 5 |FH =B 4 2l 10 7 0
5 T BiAX 50 |BE MY 3 2 7 6 0
50 T BH:A R 13 |lUE Kl 4 2 6 5 0
5] T BiemE 59 |EA #X 4 2 6 4 0
120 T AKX | 92 |B# HAH 1 1 18 18 0
120 7 BieE 2 %8 E 4 1 9 9 0
120 1 EBK | 52 [WE EX 2 1 9 9 0
12 T BREX 18 |HE MFE 4 1 7 7 0
121 T BAKX | 33 | BA 4 1 7 7 0
12 T BREX 12 |98 # 2 1 7 7 0
121 7 BAK | 40 |Ak EE 2 1 7 7 0
120 7 BEX | 42 (B =3 1 1 7 7 0
120 7 BEX 3 |FEm@ g 3 1 6 6 1
120 7 RieE 70 |AE FBKRER 4 1 6 6 0
120 7 BAX | 90 |RIl A 4 1 6 6 0
121 7 ZBK | 33 [BAR BN 3 1 6 6 0
120 T BREX | 75 |lUK #Ht 4 1 5 5 0
120 7 BAK | 99 |8 #—EF 4 1 4 4 0
120 7 IHK | 93 | HEKER 3 1 4 4 0
120 T mRK | 31 |&FWL K# 1 1 4 4 0
120 7 BEX | 90 K ZEH 3 1 3 3 0
121 7 AKX 1 |fEE B 3 1 3 3 0
120 7 S PN 10 (WA #8 2 1 3 3 0
120 7 BieE - =8 BN 3 1 1 1 0
12 1 IHK | 97 |[fhiE EH 3 1 1 1 0




